e cIgié)- Multiplizieren Sie Dezimalzahlen mit
& i §f p

Zehnerpotenzen

Name: Datum: Ergebnis:

2,859 x 100000 = 9, 899 x 10000 =

4,711 x 100000 = 3,027 x 1000000 =

4,613 x 1000 = 7,137 x 100 =

2,202 x 100 = 7,77 % 10000 =

7,606 x 1000000 = 4,247 x 1000000 =

8,494 x 1000000 = 7,021 x 100000 =

10,961 x 1000000 = 1,803 x 100 =

4,64 x 1000 = 5,233 x 1000000 =

7,810 = 4,918 x 1000000 =

6,413 x 10000 = 9,415 x 1000000 =
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Multiplizieren Sie Dezimalzahlen mit
Zehnerpotenzen

Name:

2,859 x 100000 = 285900

4,711 x 100000 = 471100

4,613 x 1000 = 4613

2,202 x 100 = 220.2

7, 606 x 1000000 = 7606000

8,494 x 1000000 = 8494000

10,961 x 1000000 = 10961000

4,64 x 1000 = 4640

7,8 x10="178

6,413 x 10000 = 64130

Datum: Ergebnis:

9, 899 x 10000 = 98990

3,027 x 1000000 = 3027000

7,137 x 100 = 713.7

7,77 > 10000 = 77000

4,247 x 1000000 = 4247000

7,021 x 100000 = 702100

1,803 x 100 = 180.3

5,233 x 1000000 = 5233000

4,918 x 1000000 = 4918000

9,415 x 1000000 = 9415000
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